
SAP ABAP table ROIURV_PASS_SEV {Passing info from tax sum function to tax load function}

ROIURV_PASS_SEV

VNAME [CHAR (6)]

DOI_NO [CHAR (5)]

BUKRS [CHAR (4)]

WL_NO [CHAR (15)]

WC_NO [CHAR (5)]

MP_NO [CHAR (20)]

MAJPD_CD [CHAR (1)]

MATNR [CHAR (18)]

TAX_CLS [CHAR (4)]

SCHOOL_DIST_CD [CHAR (3)]

PU_NO [CHAR (10)]

VL_TYPE_CD [CHAR (2)]

CT_NO [CHAR (10)]

PPA_RSN_CD [CHAR (2)]

PRI_GEO_LOC [CHAR (2)]

SEC_GEO_LOC [CHAR (3)]

TOT_GR_VL_U [UNIT (3)]

ENERGY_U [UNIT (3)]

UNIT_VNAME [CHAR (6)]

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 ROIURV_PASS_SEV-PU_NO = KNA1-KUNNR 

0..N

1

OIUCM_CONTRACT

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 ROIURV_PASS_SEV-CT_NO = OIUCM_CONTRACT-VBELN 

0..N

1

OIU_CM_LXPGL

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

PRI_GEO_LOC [CHAR (2)]

 ROIURV_PASS_SEV-PRI_GEO_LOC = OIU_CM_LXPGL-PRI_GEO_LOC 

0..N

1

OIU_CM_LXSGL

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

PRI_GEO_LOC [CHAR (2)]

SEC_GEO_LOC [CHAR (3)]

 ROIURV_PASS_SEV-SEC_GEO_LOC = OIU_CM_LXSGL-SEC_GEO_LOC 

0..N

1

OIU_CM_MAT_PRCD

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 ROIURV_PASS_SEV-MATNR = OIU_CM_MAT_PRCD-MATNR 

0..N

1

OIU_CM_PDCD

MAJPD_CD [CHAR (1)]

PD_CD [CHAR (2)]

 ROIURV_PASS_SEV-MAJPD_CD = OIU_CM_PDCD-MAJPD_CD 

0..N

0..N

OIU_CM_PPARSN

MANDT [CLNT (3)]

PPA_RSN_CD [CHAR (2)]

 ROIURV_PASS_SEV-PPA_RSN_CD = OIU_CM_PPARSN-PPA_RSN_CD 
0..N

1

OIU_CM_SCHDCD

MANDT [CLNT (3)]

SCHOOL_DIST_CD [CHAR (3)]

PRI_GEO_LOC [CHAR (2)]

LAND [CHAR (3)]

 ROIURV_PASS_SEV-SCHOOL_DIST_CD = OIU_CM_SCHDCD-SCHOOL_DIST_CD 
0..N

1

OIU_CM_TAXCLS

MANDT [CLNT (3)]

COUNTRY [CHAR (3)]

PRI_GEO_LOC [CHAR (2)]

TAX_CLS [CHAR (4)]

 ROIURV_PASS_SEV-TAX_CLS = OIU_CM_TAXCLS-TAX_CLS 0..N

1

OIU_DO_DI

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

VNAME [CHAR (6)]

DOI_NO [CHAR (5)]

 ROIURV_PASS_SEV-DOI_NO = OIU_DO_DI-DOI_NO 
0..N1

OIU_DO_JV

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

VNAME [CHAR (6)]

 ROIURV_PASS_SEV-VNAME = OIU_DO_JV-VNAME 

0..N

1

OIU_PR_MP

MANDT [CLNT (3)]

MP_NO [CHAR (20)]

 ROIURV_PASS_SEV-MP_NO = OIU_PR_MP-MP_NO 

0..N

1

OIU_PR_VLTYP

VL_TYPE_CD [CHAR (2)]

 ROIURV_PASS_SEV-VL_TYPE_CD = OIU_PR_VLTYP-VL_TYPE_CD 

0..N

0..N

OIU_PR_WC

MANDT [CLNT (3)]

WL_NO [CHAR (15)]

WC_NO [CHAR (5)]

 ROIURV_PASS_SEV-WC_NO = OIU_PR_WC-WC_NO 

0..N

1

OIU_PR_WELL

MANDT [CLNT (3)]

WL_NO [CHAR (15)]

 ROIURV_PASS_SEV-WL_NO = OIU_PR_WELL-WL_NO 

0..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 ROIURV_PASS_SEV-BUKRS = T001-BUKRS 

0..N

1

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 ROIURV_PASS_SEV-ENERGY_U = T006-MSEHI 

0..N

1

 ROIURV_PASS_SEV-TOT_GR_VL_U = T006-MSEHI 

0..N

1

T8JV

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

VNAME [CHAR (6)]

 ROIURV_PASS_SEV-UNIT_VNAME = T8JV-VNAME 

0..N

1


